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QUESTION 1

An organization has a cluster of 6 ESXi hosts. Security policy requires that all administrative activity occurs through
vCenter Server and not directly on the hosts. Which action should a system administrator take to enforce this policy?

A. Use the vSphere client to right-click on the cluster and select Enable lockdown mode on the ESXi hosts in the
cluster.

B. Use the vSphere client to navigate to the Security Profile of each ESXi host and enable lockdown mode.

C. Connect to the DCUI of each ESXi host and navigate the menus to the Troubleshooting Options and enable
lockdown mode.

D. Connect to the ESXi shell on each host and type the command service lockdown start.

Correct Answer: B

QUESTION 2

A user has submitted a trouble ticket complaining that the email server VM has become very sluggish. After looking at
the logs, the vSphere administrator suspects the iISCSI network is experiencing congestion. What esxtop statistic should
the administrator examine in order to validate that the guest OS is experiencing performance degradation?

A. GAVG/wr

B. %ACTV

C. PATH

D. PKTRXMUL/s

Correct Answer: A

QUESTION 3

An administrator is planning a new vSphere deployment using shared storage. The solution must support:
vMotion

Storage vMotion

Fault Tolerant virtual machines

VAAI primitives

RDM disks
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Which storage type will meet these requirements?
A.

CIFS

iSCSI

NFS
D.
VSAN

Correct Answer: B

QUESTION 4

-- Exhibit -

== VCP_DCV_Example Actions =

Getting Started Summary Monitor | Manage | Related Objects

| Seftings | Alarm Definitions | Tags | Permissions | Network Protocol Profiles | Ports | Regourc@Allocation |

“ LB el X 206 | (defaultfilter) |z 8 &% G &
Topology & 4
Properties § Production v VCP_DCV_Example-DVUplin.. @
Private VLAN VLAN ID: — : I Uplink 1 (1 NIC Adapter)
¥ Virtual Machipes | vmnic1 esx-01a.corp local e

~ T Uplink 2 (0 NIC Adapters)

-- Exhibit -Users accessing the WinXP virtual machine shown in the exhibit report intermittent connectivity to the
corporate network.

The configuration is as follows:
This virtual machine runs in a DRS/HA cluster of two ESXi hosts.
The VCP_DCV_Example vSphere Distributed Switch was recently created.

The WinXP virtual machine was recently migrated from another vSphere Distributed Switch.
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The WinXP virtual machine was able to connect prior to migration to this switch.
No changes to the VCP_DCV_Example switch have been made since creation.

Which step should the administrator take to resolve the WinXP virtual machine\\'s intermittent connectivity to the
corporate network?

A. Add the ESXi host to the switch where the virtual machine is currently running
B. Disable Port Blocking on the VCP_DCV_Example switch

C. Disable Port Blocking on the Production port group

D. Enable Network 1/0O Control on the switch to better balance I/0

Correct Answer: A

QUESTION 5

An administrator has deployed vSphere Data Protection and wants to configure several virtual machine backup jobs.
When using the vSphere client on a Windows 7 desktop, the administrator notices that there is no icon for vSphere Data
Protection in the Solutions and Applications area of the vSphere client.

What is the reason the administrator is unable to access vSphere Data Protection from the vSphere client on their
desktop?

A. The vSphere Data Protection client plug-in is not installed on the administrator\\'s desktop.

B. Accessing vSphere Data Protection requires the use of the vSphere Web Client.

C. The vSphere Data Protection plug-in is disabled in the vSphere Client on the administrator\\'s desktop.

D. The administrator\\'s desktop does not have connectivity to the vSphere Data Protection virtual appliance.

Correct Answer: B
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